
Functions 

 

 

𝑓(𝑥) = 3𝑥 − 5 𝑓(𝑥) =
2

𝑥 − 1
 𝑓(𝑥) =

2𝑥 + 1

𝑥 + 1
 

𝑥 ∈ 𝑅,−6 < 𝑥 < 3 𝑥 ∈ 𝑅, 𝑥 ≠ 1 𝑥 ∈ 𝑅, 𝑥 ≠ −1 

 

For each function: 

 

1. Sketch 𝑓(𝑥) 

2. Find 𝑓−1(𝑥) 

3. Sketch 𝑓−1(𝑥) 

4. Solve 𝑓(𝑥) = 𝑓−1(𝑥) 

 

  



Functions - Answers 

 

𝑓(𝑥) = 3𝑥 − 5 𝑓(𝑥) =
2

𝑥 − 1
 𝑓(𝑥) =

2𝑥 + 1

𝑥 + 1
 

𝑥 ∈ 𝑅,−6 < 𝑥 < 3 𝑥 ∈ 𝑅, 𝑥 ≠ 1 𝑥 ∈ 𝑅, 𝑥 ≠ −1 

 

1. Sketch 𝑓(𝑥) 

2. Find 𝑓−1(𝑥) 

 

𝑓−1(𝑥) =
𝑥 + 5

3
 𝑓−1(𝑥) =

2

𝑥
+ 1 𝑓−1(𝑥) =

1 − 𝑥

𝑥 − 2
=
𝑥 − 1

2 − 𝑥
 

 

3. Sketch 𝑓−1(𝑥) 

4. Solve 𝑓(𝑥) = 𝑓−1(𝑥) 

 

3𝑥 − 5 = 𝑥 
2𝑥 = 5 

𝑥 =
5

2
 

 

𝑥 =
2

𝑥 − 1
 

𝑥2 − 𝑥 − 2 = 0 
(𝑥 − 2)(𝑥 + 1) = 0 
𝑥 = 2, 𝑥 = −1 

𝑥 =
2𝑥 + 1

𝑥 + 1
 

𝑥2 + 𝑥 = 2𝑥 + 1 
𝑥2 − 𝑥 − 1 = 0 

𝑥 = 1.62, 𝑥 = −0.62 

 


